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@® 12.47+29 @53.55 +8.5 ® 7.56 +2.1

@ 5.544 +2.31 ® 25.41+12.1

~&B

D 12.47 =29 = 0.43

@ 53.55 + 8.5 = 535.5 + 85 = 6.3
® 7.56+21="756+21=36

@ 5.544 + 2.31 = 554.4 + 231 =24
® 2541 +12.1 = 254.1 + 121 = 2.1
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1) +2 = 24.51
o]) = 24.51 x 2
49.02 + 8.6 = 5.7(cm)




ol 202.95ke 0] W2 E AISI= 7 A7} QLU
o] Z| A= AL W= 30 E F Oﬂgﬂkg_g]% 2.2 YA} 2=
A=A T2
> & kg
> " 45.1kg

2 A7+ 15 B=2.25 A7} 30 = 0.5 A|7F
202.95--2.25 = 20295225 = 90.2(kg)
90.2 x 0.5 = 45.1(kg)
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22 AEAA BoFo] I8 B4 80mL B2
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(0] Zol)= (12 4 5) = (% - }L) — 204( om)

(A9 Eo])= 204 + 3 - 12 = 56( cm)




